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= General Instructions : Q\QQ}

(i)  First 15 minutes t@has been allotted for the candidates to read the question paper.
(i) The question paper is divided into two Parts - Paﬂ *A and Part ‘B’.
(iii) Part ‘A’ and Part ¢B*are divided into three Sub-divisions a, b and c | |
(iv) In Part ‘A’ of the-question paper, there are Multiple Choice Questm_ns in which correct

alternative is to be selected and then by a blue or black ball point pen, the correct
alternative is to be filled completely in the circles it OMR Sheet. ‘
1 mark is allotted for each question in the Multiple Choice Questions of Part *A’.

(v)
Part ‘B’ has descriptive questions.

(v1) |
(vii) The allotted marks are given in each question. -
All the questions of each Subdivision of Part ‘B’ are to be attempted all at a time. Start

(vii1) 0]
each Sub-division from a new page.
(ix) All the questions are compulsory.
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PART - ‘A’

(A) 40 cm; Concave
(C) 4 cm; Concave

2.
current is expressed as : N
(A) PR Q\QQ} (B) /PR
R N\ P
©) \[5 $ D) /R
3. Speed of light in medium (1) and medium (2) are v, and v, respectively, then refractive
index of medium (1) with respect to medium (2) is :
(A) vi/v, B) v, /v
© vxn (D) vty

(Multiple Choice Questions)
Subdivision — a

Power of a lens is —2.5 D. Focal length and nature of the lens 1s :

(B) 40 cm; Convex
(D) 4 cm; Convex

4.  Which of the following statements is false ?
(A) Magnetic field lines emerge out from north pole of magnet.

(B) Magnetic field lines are from south towards north pole inside the magnet.

(C) Magnetic field lines intersect each other.
(D) Magnetic field lines are closed curves.

[n which of the following

5. :
(A) Convex mirror
(C) Concave mirror
12T
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mirrors, field of view is maximum ?
(B) Plane mirror

If electric power and resistaQ& are expressed as P and R respectively, then electric

(D) None of the above
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Total resistance of the resistors of R and 2K thm

is R,, then 1
R! 2 . Rl 9
(A) » —o 1) —==
' Ry 9 R, ™2
R, R |
— =] Dy —==
© g R |
7. The number of turns are increased by 1 iMeS 16 2 cyrrent carrying circular coil; then 1
magnetic field at the centre of the coil is
(A) increased by n times (B) decreased by n times
(C) increased by n? times (D) unchanged
Subdivision - b
% The IUPAC name of CH,CH,OH is : 1
(A) Ethanol (B) M&:than.o'i |
(C) Acetic Acid _ (D) Ethanoic Acid
9. Which of the following is a combustion reaction ? 1
(A) NaOH + CH,;COOH —> CH,COONa + H,0
In the presence
B + Cl > Cl+HCI
(B) CHy Ch—5 Sunlight CHy
(C) CH,+0,—> CO, +2H,0 + Heat and light
H H
R\ /RH | (|: R
= — 3 - C‘ . —_
®) R / ¢ \‘R Ni Catalyst R o
R R
10.  On going down a group, the sizg of atom increases because — 1
(A) A new orbit is added e}h ing dowriin a group. N ,
(B) The distance betweeinthe nucleus and the outermost oribit remain the same.
(C) The charges in the'pticleus remain constant,
(D) None of the a%&% o 1
|1. The chemical forsula of Plaster’of Paris 15—
(A) CaSO,-3H,0 (B) CaSO,-2H,0
1
(C) CaSO,-H,0 (D) CaSO,- EHEO
12. The pH value of pure water remains 1
(A) |1 B) 7
(C) 0 D) 14
13 The functional group in Aldehyde is | o 1
7
B) -C
(A) —-OH (B) K
0
|
(C) -C- D) -C-0H
I
O
824(EP) [50/8] (W-7) P.T.0.

S, joined in series is R, and in parallel
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14. Which of the following is producer 9 visk
(A) Birds (B) Wild animals
(C) Petanimals (D) Green plants

shall yield in first
’

15. Crossin_g between long pea plants (tT) and dwarf plants (tt),
generatlon:
(A) All long plants
(B) All dwarf plants
(C) Half long and half dwarf plants

(D) Three fourth long and one fourth dwarf plants

16.  Which of the following pair is used in reaction of photo-synthesis ?

(A) Carbon dioxide and Oxygen (B) Water and Oxygen
(C) Water and Carbon dioxide (D) Carbon dioxide and Nitrogen

17.  Common unisexual male flower doesn’t have : 1
(A) Sepal (B) Petal
(C) Stamen (D) Stigma

18. Insulin is secreted by : 1
(A) thyroid gland (B) pancreas

(C) pituitary gland (D) testis

The principle of organic evolution was propounded by
(A) Charlés Darwin (B) " Gregor Johann Mende:
(C) Amrata Devi Vishnoi (D)  Stanley L. Miller

20. On burning, fossil fuel gives : 1
(A) Oxides of Carbon \QQ (B) Oxides of Nitrogen
(C) Oxides of Sulphur &g\ (D) All of the above
& gue- W/ PART- ‘B’ 50

QQ
& (gufAre® 99 (Descriptive Questions)

I99E — % [ Subdivision - a
LD sraren edur R g 1 e e e R % fore v s s | 7 @
&1 F 13 T A Tl | 3+1=4

Draw a ray diagram in order to obtain a virtual image of an object by a concave
mirror. Write down any one use of this mirror. httpsy//www.upboardonline.com 3+1=4

5 faeht forew @ v T % Fordeen ) B ot TRt TR | 4
2 Explain the phenomenon of dispersion of white light through a prism by making a
diagram. 4
3. i =51 T T & 7 S TR ) g @ P % Ao 1 ST | 14324
. What is Ohm’s law ? Explain the verification of this law with the help of a circult
diagraff. 1+3=4
824(EP) [6of 81 (W-7)
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4. What is the phenomenon of electromagnetic Iductjgn o Explain Faraday’s experiment
b d xpell

Fgg | 2+4=F

aSSOCiated with thiS phenomenon‘ L 2+4= &
OR

Explain tht?. production of magnetic field due to , current flowing in a solenoid by

making a diagram. . P

IqGUE ~-W / Su Ldivision -b

2+2=4
“xplain the following by giving examples 7+2=4
Importance of pH in daily life
. Exothermic chemical reactions
6. (%) TS Il & g Tt il & venf-& adtew g 2
= 2

(@) Tt =1 %8 st w0 : (vt @ fwo ffay)
()  <fm =i & 1 &1 G (aihm )
(i) R 3 e At afe
6. (a) Write chemical equations of two chem¥al properties of Ethanoic Acic.
(b) How will you obtain the following : (Wiite.chemical equations) 1 =2
(i)  Washing Soda from Baking Seda
(i)  Plaster of Paris fam Gypsum
(11) aster Q@\

N\
7. % %@aaﬁaﬂ'@n@}; s
(i) |TEA
iy P 3
(i) el o afwdat Ao
Ll
(1) e ST i ICTECT €T I 2+42+2=8
(ii) Sy7egforer T wioft oY ferdeard ferfls:

(iii) FerraTt & ) T ) o Tt wR O e |

Explain the following :

(i) Cleansing action of soap
(ii} Calcination and Roasting
;\ii"s ) Activity series of metals

2+2+2=0

OR
i:xplain addition reaction with exarppi_;.
Write characteristics of modern p'CI“lOdF--‘
Write chemical equation for obtaining

i (7018 (W-7) PITO.
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(1) ﬂfn;;f“‘ Pl S s gy, ﬁ‘j-;;mw-% rl
i) feet A form I T I i 7 !
(y) @A ST % IgrEm Gifvrm

(1) Write one main function of
(i) In which organ of body ‘-
(iii) On which plant did \J1L,|L.c,|;‘r,—“- rm his experiment ?

(iv) Give examples ofhomologous rgans.

& |“m mpla'ﬂ[
~T" ig placed ”

A7 % QR AT ) s i | .
9. Describe double circulation in human beings. 4
10 ﬁnﬁ‘ﬂf@awﬁwf‘aw&mﬁaﬁw, 2+2=4

(i) i qamEt & gem

SO CERREEEEy
10.  Write short notes on the following 2+2=4

(1)  Conseryanion of natural resources

(n) Regencralion

1. wﬂmﬁmmwmlwﬁmmt? 3+3=6

mmm&mﬁ%ﬁ&q 2424256
N

() z-'au*m qhr &

(i) S

(111) WW%

Describe the structure of nephron in kidnev. How does it function 7 1+ 3= 8
OR

Write short notes on the following : 24242

1) Autotrophic nutrition
1) Transpiration
.11t Chipko movement

B::+AEP [sof8l (W-7
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